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Instructions:
1. Attempt all questions.

2. Make suitable assumptions wherever necessary.

3. Figures to the right indicate full marks.

Q.1 (a) Write regular expression for the followings:
1) Set of strings of 0’s and 1°s not containing 101 as a substring.
2) Set of strings of a’s and b’s ending with abb.
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Explain symbol table in detail.

Define token, pattern & lexeme. Differentiate between them using proper

example(s).

Construct NFA for following regular expression and then convert it into

DFA.
(a|b)*c*d#

Construct DFA for following regular expression without constructing NFA

and minimize it.
a'b(c|d)a*b#

Define LL(1) grammar. Is following grammar LL(1)? Justify.

S—(L)|a
L—-L,S|S

Find LR(1) items for following grammar.

S—AalaAc|Bc|bBa
A—d
B—d

Consider the grammar
bexpr — bexpr or bterm | bterm

bterm — bterm and bfactor | bfactor

bfactor — not bfactor | (bexpr) | true | false
where bexpr, bterm and bfactor are non-terminals. Find non-recursive
predictive parsing table and parse the string

not ( true or false )

Construct SLR parsing table for following grammar.

S—>0S0|1S1
S—>10

What is called ambiguous grammar? Explain your answer with proper

example(s).

Consider the following program segment.

Sum =10
for( 1i=1; 1<=20; i++)
Sum = Sum + a[i] + b[i];
Generate three address code for it.
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Write syntax directed definition for constructing a syntax tree for the
arithmetic expression including +, — & / operators.

What is peephole optimization? Which are the characteristics of it? Discuss
in detail.

Differentiate the followings:
Syntax tree & Parse tree
Synthesized attribute & Inherited attribute

What is DAG? How it differs from syntax tree? Draw syntax tree & DAG for
following expression.
a+(a*x(a—c)/(c—-b))
OR
Discuss the different issues in the design of a code generator.

Discuss the job of linker & loader in the context of language processing.
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